H £ 0l & AF & S

Al A

M JIEES
M JIE - 6l 5X 38
el HAJIEXIZ ALY (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
&St 88,106,898 86,483,724 1,623,174
= 35,285,622
= 2,770,073
| 4,312,776
Al 34,374,584
- 11,363,843
s -4 =X 3& 17,197,981 15,532,916 1,665,065
= 2,680,614
| 4,247,093
Al 8,6%,881
- 1,573,393
ISR AL 15,519,885 14,038,241 1,481,644
= 2,680,614
J| 3,812,482
Al 7,512,496
- 1,514,293
SHREQIIE XA (AlHI]) 150,000 152,000 A2,000
Al 75,500
- 74,500
201 LB-2AY| 3,700 4,400 AT700
Al 1,850
- 1,850
03 A2 | 3,700 4,400 AT00
OstREII=EsM e & st
3,700,000& 3,700
Al 1,850
- 1,850
301 LPBNZ 146,300 147,600 21,300
Al 73,650
- 72,650
02 MBI EZASHS(HUAS, XLTHA) 145,500 146,600 A1,100
OetR2II=E SHIXIA
220,000 x650 A CH*13] 143,000
Al 71,500
- 71,500
OStREINEZZ NS 2 W LI
50,0002 *30Y 13| 1,500
Al 750
- 750
OetRE2INH=ENSSM A =]
1,000,000& 1,000
Al 1,000
11 AU S 800 1,000 A200




SN JMSE S
M JIEE - g =X S
el HAJIEXIZ ALY (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEEE e EEI e
800,000& 800
Al 400
- 400
HAESIEQIIEXE X2 (=H]) 19,000 35,813 A16,813
| 15,200
Al 3,800
301 LEBNZ 19,000 35,813 A16,813
| 15,200
Al 3,800
01 Al B&X2HZ2(2REETHA) 19,000 35,813 216,813
OFEAEHSIE RIS X XIS AL
19,000,000& 19,000
| 15,200
Al 3,800
SIRLIIE MEY=Hl € X (=4]) 3,828,600 3,842,080 A 13,480
| 3,062,880
Al 765,720
301 LB NZ 3,828,600 3,842,080 A13,480
| 3,062,880
Al 765,720
01 Al B &N Z2(2REETR) 3,828,600 3,842,080 A 13,480
OeRI2IIEXEH =]
3,828,600,000& 3,828,600
| 3,062,880
Al 765,720
FOLXt - FIAIE CHOH AL 20,800 20,800
201 Ler2 | 20,800 20,800
01 At 22|l 20,800 20,800
Oget=ZH| 800
—SOIXL - INNEUHHAMSEESHES
1,000, 0002 *80%<& 2> 800
Ogegr=9d| 20,000
—FOLXt - FItAIERRI2E]
25,000,000 *80%<& 2> 20,000
HAEED 0ts2=H|(=24]) 10,000 9,460 540
= 5,000
Al 5,000
301 L2 Z 10,000 9,460 540
= 5,000
Al 5,000
01 Al B& X2 (2 REETHA) 10,000 9,460 540
OFLEHRR0tsY=H|
10,000,000& 10,000




2A:
T ZH -
o e

=aak

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 5,000
Al 5,000
IIEBHHSG XA (=) 1,059,540 594,226 465,314
| 521,770
Al 313,062
- 224,708
307 2I2+01A 1,059,540 594,226 465,314
| 521,770
Al 313,062
- 224,708
10 IS SXAIEHE2ZHIEX 1,059,540 594,226 465,314
OJIFHEHSZ XA (=)
1,043,540,000& 1,043,540
| 521,770
Al 313,062
- 208,708
OJNEHEHAE 2 FEI2H
16,000,000 16,000
IEHEHSG XA (AL 59,800 46,800 13,000
Al 29,900
- 29,900
307 gI2Hol ™ 59,800 46,800 13,000
Al 29,900
- 29,900
10 Al = XAEHE2FHIE X 59,800 46,800 13,000
OIIBHEHSAANSESY
19,200,000 19,200
Al 9,600
- 9,600
OIIEHEHBAINE A S A
9,600,000& 9,600
Al 4,800
- 4,800
OIIEHEHSAINHEE SO
28,800,000& 28,800
Al 14,400
- 14,400
OII=SHEHSAASEHZ A &I
2,200,000& 2,200
Al 1,100
- 1,100
CI2stE E43AIE(38]) 351,520 348,356 3,164
| 175,760
Al 175,760




SN JMSE S
33 I - g SX 88
=l HEIIEXIEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 361,520 348,356 3,164
Il 175,760
Al 175,760
11 AMEISXAIEEXS 361,520 348,356 3,164
OLEaIES gAY
351,520,000 361,520
Jl 175,760
Al 175,760
ZE0/8IX A3t KA (=H]) 15,500 15,500 0
Il 7,750
Al 3.875
- 3,875
307 @I2t01 & 15,500 15,500 0
Il 7,750
Al 3,875
- 3,875
11 AMEISXAIEEXS 15,500 15,500 0
OEENIEPE=RETCbE
15,500,000& 15,500
Il 7,750
Al 3,875
- 3,875
CIESIIENZAH2 S 640 640 0
201 ger= 3| 640 640
01 At 2|l 640 640
o2gsg 640
—U2eIEXE g 2@ EAE
100, 0002 x8 *B0%W<E Z> 640
HEROES XA 21,000 9,000 12,000
307 elztol & 21,000 9,000 12,000
11 AMEISXAIEEXS 21,000 9,000 12,000
OL2aHE T 0IS A0 2ot 3l
4,000,000 4,000
Ot2zblE =Sz
5,000,000& 5,000
OUERCI0IS ALY 12,000,000 12,000
OlOISS I (2HI) 2,108,020 2,067,3%4 40,666
= 1,475,614
Al 632,406
307 gl2to| & 2,108,020 2,067,354 40,666
= 1,475,614
Al 632,406
11 AMISXAIEEX 2,108,020 2,067,3% 40,666
Ootol=sXE 2,108,020,000& 2,108,020




2A:

X XH -
o=

=2 odIEXE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,475,614
Al 632,406
Hetgol23(=hl) 1,600,000 1,819,000 A219,000
= 1,200,000
Al 80,000
- 320,000
301 EtE NS 1,600,000 1,819,000 A219,000
= 1,200,000
Al 80,000
- 320,000
01 Al 2E A S(SRNEXMH) 1,600,000 1,819,000 A219,000
oxgtgolEz 1,600,000,000& 1,600,000
= 1,200,000
Al 80,000
- 320,000
SM=GI= XA (F]) 400,000 400,000 0
301 2eEN= 400,000 400,000
02 A2 EH LGS (HAAS, NLWE) 400,000 400,000
O&d=ol=X&
500,000 «800E 12| 400,000
SO0I=S0HAE 29 373,776 364,592 19,184
307 elzto| & 373,776 354,592 19,184
05 212t =S 373,776 354,592 19,184
OFO0t=E0tHHIE Q1 21|
270,406,000 270,406
O=F 0=t 2]
80,864,000 80,864
OF 0= 0HAE AL I
22,506,000& 22,506
BSF0tLsH 2F(=H]) 58,244 56,712 1,532
) 29,122
Al 17,473
- 11,649
307 elztol & 58,244 56,712 1,532
Jl 29,122
Al 17,473
- 11,649
11 AMEISXAEEES 58,244 56,712 1,532
O3s=0LsH=2g 58,244,000 58,244
Il 29,122
Al 17,473
- 11,649
HENESTNAIESANSE LS L EHIXSH 2,800 3,600 2800
Al 2,800




fA: IS et
M JE - 0d =X 88

=l HEIIEXIEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 2,800 3,600 A800
Al 2,800
10 Al SXAEEE 22X 2,800 3,600 A800
ONEIIEFXNAIESAANSE A BT 2,800
— SR RIIESAAESAA L E |
1,400,000 1,400
Al 1,400
—SESNHNESAIEEANA L S A
600,000 600
Al 600
—Its - 4SS SEYELSAAS
=Rl 800,000 800
Al 800
NELDZALSITHE =2 2ITAD 3,500 3,500
307 212+01& 3,500 3,500
02 LB HANHEE 3,500 3,500
OEINEIBEPIN R ONE-P\ sl PAF
3,500,000& 3,500
&S 2=I|2+2(AlH]) 5,407,200 4,138,000 1,269,200
Al 5,407,200
301 2= 5,407,200 4,138,000 1,269,200
Al 5,407,200
02 ANRI2HALFS(HAAS, XNLHE) 5,407,200 4,138,000 1,269,200
odggsI|I2+<
5,407,200,000& 5,407,200
Al 5,407,200
HEES Al =4 17,3% 17,3%
201 er23| 12,860 12,860
01 AtR2te|HI 8,060 8,060
Odgt==H| 6,540
—EEYSSLS 2,120
ZA=E 230,000& 42 920
EI2NSHES
1,500, 0002 x80%<E 2> 1,200
—FEHH=EY 1,420
ZA==E 230,000 *22] 460
AN2dHES
1,200,000 x80%<E 2> 960
—FadldEF A
3,750,000 x80%<E 2> 3,000
O=g=g 1,620
—UdEstEAEdEs2gdsg
100,000 132 * 13| +80%<E 2> 1,040
— 422G+
100,000 62 » 12| «80%<E 2> 480




A OIS
M JE - 0d =X 88
el HAEJIEXIJAY (SH &)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
03 AH2EHI 4,800 4,800 0
OgddEs=2stxd
6,000,000 * 1] +80% 4,800
301 Et2E = 3,936 3,936
11 HAFRHIXIE 3 1,536 1,536
OZ IR 0IEHHAIAIHI X 22 1,53
— 0L OITH AR A L 2 AL
12,0003 x32& *42] 1,536
14 DBt 2 a3 2,400 2,400 0
OFHNTDLHY S DA
25,0002 +32H+33] 2,400
308 L&z 600 600
01 Z&3 600 600
OUEES AN TERF=RAELL S
600,000& *12 600
HE=AgE=d 12,549 12,482 67
201 Zet2 & 3,024 2,957 67
01 A2t 3,024 2,957 67
O=IE 3,04
—OlE=N YR RS2 BAY)
9,000 *7 H+602 «80%<E 2> 3,024
202 044l 4,480 4,480
01 =LHOLI 4,480 4,480
OOl& =X HHSHLEF0Y|
20,0003 »7 H 40 +80%<E 2> 4,480
203 YR=EH| 2,700 2,700
03 A=A 2 FAIH| 2,700 2,700
SPEESNESEES
3,000, 0002 =00%< & 2> 2,700
307 212+01™ 2,345 2,345
02 It AAIEE X 2,345 2,345
OUEAHEMAISEIXIA
2,345,000& 2,345
HE=XANE2E X2 1,678,096 1,494,675 183,421
J| 434,611
Al 1,184,385
T 59,100
SIRRIIESXIAIE 2L (AlH]) 767,706 747,084 20,622
Al 752,646
- 15,060
307 gIztol 767,706 747,084 20,622
Al 752,646
- 15,060
0122 ¥ 3/=H] 810 918 A108




FA JEEdet
= Ol ol =X E&
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB2 D IIE=A A EEHZA|
12,0003 %30 360
Al 360
OBt EIE=N ALY S|
15,0002 +30& 450
Al 450
10 AlRIS XA EEE 22X 766,8% 746,166 20,730
OetRZIIE=RNAE2E X 736,776
—QlA4H| 661,346,000 661,346
Al 661,346
—2gH| 75,430,000 75,430
Al 75,430
OB RIES AL BALSE S
23,520,000 23,520
Al 11,760
= 11,760
OBHRRIE= XA LBARHBSAL|
50,0002« 11H =122 6,600
Al 3,300
- 3,300
SIRLIIESXIAIE Ol0ISEAMHIA IR (=4I) 37,640 21,100 16,540
7l 26,348
Al 11,292
307 lztol & 37,640 21,100 16,540
Il 26,348
Al 1,292
11 AMEISXAEEXS 37,640 21,100 16,540
OsR2IIIEERAIL00ISESAHIA
37,640,000 * 100 2 37,640
Jl 26,348
Al 11,292
SIRLIIESRIAIE AT A - o2 X (3]) 31,554 32,336 AT8B2
7l 15,777
Al 16,777
307 glztol & 31,554 32,336 AT82
Jl 15,777
Al 16,777
11 AMEISXAEEE 31,554 32,336 AT82
OtFRIIE=SNIANEL Ao =2 XA
31,554,000 *1IH £ 31,554
) 16,777
Al 18,777
I ESAGA 2IXA(=H]) 267,700 146,711 120,989
Jl 133,850




FA JEEdet
Hu: 1= - ol =X =X
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 133,850
307 gl2tol & 267,700 146,711 120,989
Il 133,850
Al 133,850
10 Al SXA2EE 22X 267,700 146,711 120,989
Oty - 425 SEYEL2ENH
267,700,000 * 10 £ 267,700
Jl 133,850
Al 133,850
e EgAgs 2EXA(AILI) 104,815 94,09 10,720
Al 86,055
- 18,760
307 @20l & 104,815 94,095 10,720
Al 86,055
= 18,760
e NEEEEETEES 104,815 %,0% 10,720
OJIE - HEASHAGAZATISELS
16,800,0002 16,800
Al 8,400
- 8,400
OIHE - HEASSALABATZASAY)
,200,000& 4,200
Al 2,100
- 2,100
Ol - 2 SELEASAMNSERIHI
9,800,000 9,800
Al 4,900
- 4,900
Oty - §ZHSEYELSMIIESE
,720,000& 6,720
Al 3,360
- 3,360
OE - HEASSALAZAKCI Y| S
67,295,000 67,29
Al 67,295
JHEZTch A 2 =2HI(=8]) 2,008 2,008 0
Il 1,405
Al 603
307 212+01& 2,008 2,008 0
7l 1,405
Al 603
0192 & 3=l 2,008 2,008 0
OJtE =R A2 28I X
2,008,000& 2,008
Jl 1,405




FA JEEdet
Hu: 1= - ol =X =X
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 603
OrSOHMHEXIAAT 2 (AIHI) 6,000 7,000 A 1,000
Al 6.000
201 er2 3| 6,000 7,000 A1,000
Al 6,000
01 At22t2ltl 6,000 7,000 A1,000
Oggt=3H| 2,600
—SE=SHNRLLEES
2,600,000& 2,600
Al 2,600
O=2g+d 3,400
—ZH0 LSS 150,000& * 123 1,800
Al 1,800
—Ad3 L=
100,0002 x 16 *13] 1,600
Al 1,600
A=Z2gX] 2 OGHA XA (2HI) 10,000 9,139 861
Il 8,500
Al 1,500
301 EtE N = 10,000 9,139 861
Jl 8,500
Al 1,500
01 Al EE A S (2 RDEXMA) 10,000 9,139 861
O&ZHIIN N ES A ZHI =S XA
10,000,000& 10,000
Il 8,500
Al 1,500
SZSEMNN 2ESAIE 2SR (2HI) 345,365 327,098 18,267
Il 241,756
Al 103,609
307 elztol & 345,365 327,098 18,267
Jl 241,756
Al 103,609
10 Al SXAZEHE 22X 345,365 327,098 18,267
O&LZLUINMESALE2S XA
345,365,000 345,365
Il 241,756
Al 103,609
SEZOIIA X2 - 88 Z20-8(=]) 9,964 9,964 0
Jl 6,975
Al 2,989
307 elztol & 9,964 9,964 0
Jl 6,975
Al 2,989




2A:

BH: O}
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 9,964 9,964 0
Od=gdUi A2 =E2 ]
9,964,000& 9,964
Jl 6,975
Al 2,989
Z=2ATIHA BSAIE I (AlHI) 95,344 94,112 1,232
Al 70,064
- 25,280
307 212+01& 95,344 94,112 1,232
Al 70,064
- 25,280
0192 & 3=l 2,484 2,484 0
O&EZHIINNES AIEAFRHI S|
960,000 960
Al 960
O&EZHNINNHES AL EIAXHI S|
1,200,000 1,200
Al 1,200
OMZAHN L SALEH2AL|
12,0002~ 12& 144
Al 144
O&ZIINMHESAISE S22 E|
15,0002« 12 180
Al 180
10 MBI S XAl Z 2P 2 9,860 91,628 1,23
OHZATHARZSALEANS L 4
280,000 x8H «12& 26,880
Al 13,440
T 13,440
Od=ZHUNAHESAIESALANE A S 4|
0,000&+8& 123 4,800
Al 2,400
- 2,400
OHZATFHAIZ S AL EATLE EIIH]
11,200,000 11,200
Al 5,600
T 5,600
O&ZHNINAESAIEBARIIE LY
7,680,000 7,680
Al 3,840
- 3,840
O&ZYIINNESAIES AR A2 &
42,300,000 42,300
Al 42,300
OrEEsX& 49,747,514 50,020,726 N273,212
= 25,694,106




M JIEES
M OtsEsAE
Chel: EFAIHE S} (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
s 191,000
Al 18,053,262
- 5,809,146
2ol 29 18,344,884 17,683,364 661,520
= 7,581,529
Al 7,619,025
- 3,144,330
20| YROILES W AMNEEZ (AlHI) 30,916 35,601 A4,685
Al 30,916
201 L2 | 30,916 35,601 24,685
Al 30,916
02 23244l 30,916 35,601 24,685
OBESILAHA 30,916
—ESDENANHEEE
16,779,840 16,780
Al 16,780
—gR0LMHEEZ 14,135,484& 14,136
Al 14,136
X2 L S02101& XIA(AlH]) 414,514 368,59% 45,918
Al 207,257
- 207,257
307 2I2+0l ™ 414,514 368,59%6 45,918
Al 207,257
- 207,257
10 AlSISXAIEHE2ZHIEX 414,514 368,5% 45,918
OO0FIAZT &l 0 & |
97,874,000& 97,874
Al 48,937
- 48,937
(OMN =2 IN]s] 54,000,000& 54,000
Al 27,000
- 27,000
O=2&u 7| 26,000,000& 26,000
Al 13,000
- 13,000
OO0FATHE R WALKIA
236,640,000& 236,640
Al 118,320
- 118,320
OEl0IE SARLBI(AIBL 11,700 13,000 21,300
Al 11,700
307 gI2Hol ™ 11,700 13,000 21,300
Al 11,700
10 Al SEXAIEHE2ZHIEX 11,700 13,000 21,300




SN JSE S
M OlsE2sXE
Celr oelold 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0l & = A7
130, 0002 *907H A 11,700
Al 11,700
HElold BHE2FHI(AlH]) 570,000 570,000 0
Al 513,000
- 57,000
307 elztol & 570,000 570,000 0
Al 513,000
- 57,000
10 Al SXAAEEHE 22X 570,000 570,000 0
O0lglol&grE 24| 570,000,000& 570,000
Al 513,000
- 57,000
ool =g 52,820 55,612 N2, 792
201 et 3| 12,150 12,282 A132
01 At22t2l] 12,180 12,282 A132
Oget=ZH] 12,180
—OIRIOI BRI B R 242
9,900, 0002 9,900
—OlRIIETIAQEE A 22T
2,250,000 2,250
307 21201 & 40,670 43,330 A2,660
10 Al SXAEEE 22X 40,670 43,330 22,660
OO0l HHI X & 40,670
—200lot 50,0003 *47 I 2=+ 7E 16,450
—218~402 0l ot 80,0002 1700 2xx7 9,520
—413801&f 100,000 #2104 2x+7 & 14,700
HElold M 7dI(=4l) 48,400 56,667 N8,267
= 29,040
Al 13,552
- 5,808
307 gl2to| & 48,400 56,667 N\8,267
= 29,040
Al 13,552
- 5,808
1 AMEISXAEEXS 48,400 56,667 N8,267
OO0E0IZ W FHI(=HI)
48,400,000 48,400
= 29,040
Al 13,552
T 5,808
SR AHI(=H]) 6,647,492 6,426,654 220,838
= 3,988,49%
Al 1,929,698




ISRt
OtsE2=AI&
2018 =3 (EH9): ®2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 729,29
307 212+01™ 6,647,492 6,426,654 220,838
= 3,988,495
Al 1,929,698
- 729,299
10 Al =S XA EBEER2IHIE X 6,647,492 6,426,654 220,838
OEB=1u&RAI2H| 6,647,492,000& 6,647,492
= 3,988,495
Al 1,929,698
- 729,299
BEUAN2 HRJIHH(=HI) 1,380,698 1,302,723 77,975
= 828,419
Al 386,595
- 165,684
307 2I2+01A 1,380,698 1,302,723 77,975
= 828,419
Al 386,595
= 165,684
1 ABIZ XA EE 1,380,698 1,302,723 77,975
OESDHAM LI (S DA RH)
1,380,698,000& 1,380,698
= 828,419
Al 386,595
- 165,684
O2I01& 2xAF XI&(=Hl) 3,950,842 3,664,449 286,393
= 2,370,505
Al 1,106,236
- 474,101
307 QIZt01A 3,950,842 3,664,449 286,393
= 2,370,505
Al 1,106,236
- 474,101
10 Al S XA EEHE2FHIE X 3,950,842 3,664,449 286,393
OO2I0IB 2 X WAKIA (=HI)
3,950,842,000& 3,950,842
= 2,370,505
Al 1,106,236
- 474,101
AR0F (2I01E BEXWAF Q1AH[(AlH]) 68,772 68,772 0
Al 68,772
307 212+01™ 68,772 68,772 0
Al 68,772
10 IS SXAIEHE2ZHIEX 68,772 68,772 0




SN JSE S
M OlsE2sXE
Celr oelold 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEETTENEEESNEET]
68,772,000& 68,772
Al 68,772
HE0IE CHMAL X1 (=HI) 684,900 647,936 36,964
= 342,450
Al 171,225
- 171,225
307 212+01& 684,900 647,936 36,964
= 342,450
Al 171,225
- 171,225
05 git?(& = 368,400 358,400 10,000
OO 0IZ UM RAKI 2 (SOISE X J 6H
) 368,400,000 368,400
= 184,200
Al 92,100
- 92,100
10 AlRISTIAEEE2HIEX 316,500 289,536 26,964
OO0l UM RAIKIE (W0 EAEHE)
316,500,000 316,500
= 168,250
Al 79,125
- 79,125
HE0ld WA ADIEE(AIH]) 2,405,300 2,228,700 176,600
Al 1,832,680
- 572,620
307 lztol & 2,405,300 2,228,700 176,600
Al 1,832,680
- 572,620
11 AMEISXAIEEXS 2,405,300 2,228,700 176,600
SsoR0EERDRASESY
60,0002 x460H 122 331,200
Al 231,840
- 99,360
Og - ROIEFWHNASEE
50,0002 x450E «12& 270,000
Al 189,000
T 81,000
OSSRIAWAZAY|
50,0002 «850H  12& 510,000
Al 367,000
- 153,000
OESWAIAX LI
630,000,000 630,000
Al 441,000




2A: OISR
Hu: OlS2SXY
o2l oglolde 29 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 189,000
OESnIASELY
100,000 *757H 75,700
Al 75,700
OBSTAEIIDSLY
30,0003 *240F =123 86,400
Al 86,400
OESDEAN 2R
30,0003 *415F =123 149,400
Al 149,400
OORI0IFRZH LAY
25,0003 *100E =123 30,000
Al 30,000
OEsuXAREH
100,000 *900H 23] 180,000
Al 144,000
- 36,000
ORSIAISAYNASS
200,000 *713H 142,600
Al 128,340
- 14,260
O2I0|& RAZA 2YXIA(AlB]) 1,100,900 1,319,250 A218,350
Al 880,720
- 220,180
307 gI2tol ™ 1,100,900 1,319,250 A218,350
Al 880,720
- 220,180
10 AIEISXAIEHE2ZHIEX 730,800 814,800 284,000
OO 2I0IEFH AL Q1A XA
730,800,000& 730,800
Al 584,640
- 146,160
11 Al =SXAMEES 370,100 504,450 A134,350
Ooglolda2taldI=IA
370,100,000& 370,100
Al 296,080
- 74,020
KR esMEsSZEU (AL 282,070 274,615 7,455
Al 224,984
- 57,086
201 L2 | 840 840
01 ArR2eltl 840 840
Oo2g=¢ 840
—ddssdE2SS T M AE
150, 0003 *7 H+ 13| x80%<E 2> 840




FA JrEEdet
M OlsE2sXE
Celr oelold 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 281,230 274,615 6.615
Al 224,984
- 56,246
14 J|EIE &S 281,230 274,615 6,615
(OINE:FSE= =B S = B NG
281,230,000 281,230
Al 224,984
- 56,246
OMIOE E0 &I 01 E XIR (AlHI) 231,134 213,750 17,384
Al 231,134
307 gl2to| & 231,134 213,750 17,384
Al 231,134
10 ABIZ ALY E 2B 231,134 213,750 17,384
OOHIOHE 012101 & 2 S A1 21t
222,734,000 222,734
Al 222,734
COMIOHE 2012101 Y 2]
8,400,000& 8,400
Al 8,400
S BI2E(FI}) 87,000 84,000 3,000
307 elztol & 87,000 84,000 3,000
11 AMEISXAEEE 87,000 84,000 3,000
CEENESIEESSTICERIN
50,0002 x 145 12& 87,000
Oelold B HIe St K& 17,926 18,999 1,073
201 er=23y| 17,926 18,999 1,073
02 S3=gHl 17,926 18,999 A1,073
OG0l & S EHM I X2
17,926,000 17,926
E MM (FIh) 32,400 36,640 A3,240
307 212t01™ 32,400 35,640 A3,240
11 MEISXAEE 32,400 35,640 A3,240
O3EHMM = 'é*(—’_F—JH
30,0003 +0E«12& 32,400
Oel0ld SAA 2258l A& 85,000 85,000
307 el2to| & 85,000 85,000
1 AMEISXAIEEXS 85,000 85,000
OG0l ESAMAALS A XA
100,000 +850H 85,000
Olgloly o8 2= 244l A 108,000 118,800 10,800
307 212+01& 108,000 118,800 10,800
10 Al2ISTIAIEEE 22X 108,000 118,800 210,800
O0el0l 822X
100,000 xQ0IH 2=x 123 108,000




SN JSE S
M OlsE2sXE
Celr oelold 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02l01d WA AlglE2EE X 84,600 82,800 1,800
307 elztol & 84,600 82,800 1,800
DT EEEETEES 84,600 8,800 1,800
OOIRIOIT S L DAALSI B B AL RIS S
A& 30,0002 x235E 122 84,600
FJI2g oold Heds N 11,800 11,800
307 @I2t0| & 11,800 11,800
11 AMISXAIEEX 11,800 11,800
OFII2g0e0IE=ASE 11,800
—1501&f 1,800,000 394 2 5,400
—10=20/ & 1,600, 0002 x4 4 2 6,400
SAlRlM 2L XYS(2H]) 37,700 0 37,700
= 22,620
Al 10,556
T 4,524
307 lztol & 37,700 0 37,700
= 22,620
Al 10,556
- 4,524
11 AMEISXAEEES 37,700 0 37,700
O0elol gAY e XS
37,700,000 37,700
= 22,620
Al 10,556
- 4,524
22X 29,139,068 30,354,852 1,215,784
= 17,759,449
Al 9,444,289
- 1,935,330
dR0tE2=2 X (2H) 13,814,835 11,162,801 2,652,034
= 10,361,126
Al 2,417,5%
- 1,036,113
301 EetE NS 13,814,835 11,162,801 2,652,034
= 10,361,126
Al 2,417,5%
- 1,036,113
01 Al EE A S (2 REXMR) 13,814,835 11,162,801 2,652,034
OEROEF=XE 13,814,835,000& 13,814,835
= 10,361,126
Al 2,417,5%
- 1,036,113
FeloE o= XA (AlH]) 3,506,580 3,624,192 A117,612




SN JSE S
M OlsE2sXE
el E5sXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,506,580
301 EtE NS 3,506,580 3,624,192 A117,612
Al 3,506,580
02 ARSI 2EH 2GS (FHAAHS, NLWE) 3,506,580 3,624,192 A117,612
O=clHdE=E 3,506,580,000& 3,506,580
Al 3,506,580
HEss XA (A 496,922 496,922 0
Al 397,538
T 99,384
301 LEtE NS 496,922 496,922 0
Al 397,538
- 99,384
02 AR 2HASFS(HAAS, XNLHE) 496,922 496,922 0
OoxdEs= X2 496,922,000 496,922
Al 397,538
- 99,384
s XA (=) 218,228 285,369 A67,141
= 163,671
Al 38,190
- 16,367
301 EtE NS 218,228 285,369 AN67, 141
= 163,671
Al 38,190
- 16,367
01 Al EE A S (2 REEMR) 218,228 285,369 A67,141
Otggs+gdid 218,228,000 218,228
= 163,671
Al 38,190
- 16,367
22320 (Lot===) (=) 9,646,203 13,716,468 /4,070,265
= 7,234,652
Al 1,688,085
T 723,466
301 LEtE NS 9,646,203 13,716,468 /4,070,265
= 7,234,652
Al 1,688,085
- 723,466
01 AR 2EHSFS(RNEXRTHE) 9,646,203 13,716,468 A\4,070,265
OR2S0(S0ot=+¢) 9,646,203,000& 9,646,203
= 7,234,652
Al 1,688,085
- 723,466
HNASEOISYASLEESISHIXIA (AlH]) 23,500 21,500 2,000




FA JrEEdet
B OIS2SAE
&t 222X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 23,500
307 gl2tol & 23,500 21,500 2,000
Al 23,500
11 AMEISXAEEES 23,500 21,500 2,000
ONASSOISLABLHTSISH NS
23,500,000& 23,500
Al 23,500
O12I01% SOt =HI(ZEH)XIA(AlIL]) 1,372,800 1,047,600 325,200
Al 1,372,800
301 EtE NS 1,372,800 1,047,600 325,200
Al 1,372,800
02 A2 A6 (FHAAHS, NSWE) 1,372,800 1,047,600 325,200
SV ENEEWIETTE=I=ELT)
1,372,800,000& 1,372,800
Al 1,372,800
=0l Ot 258 XE 60,000 60,000
307 el2tol & 60,000 60,000
11 AMEISXAIEEXS 60,000 60,000
OA=CI0t ST A
100,000 x50 * 122 60,000
EFAEE -3t 2,263,562 1,982,510 281,052
= 363,128
= 191,000
Al 989,948
T 729,486
SOISEXEHH IIE LAY X (HEAIE2-1) 25,000 25,000 0
Al 18,750
- 6.250
307 el2tol & 25,000 25,000 0
Al 18,750
- 6,250
05 212t =S 25,000 25,000 0
OSSN HHIIESFAA
25,000,000& 25,000
Al 18,750
- 6,250
SO0ISE XN HEH X 388,000 375,000 13,000
307 glztol & 388,000 375,000 13,000
05 2IMRIE =3 388,000 375,000 13,000
O=0IZEXNZHHZ L
388,000,000 388,000
Ogloly JIs22(=24l) 2,000 0 2,000
[ 1,000
Al 500




SN JSE S
M OlsE2sXE
chel: BSAIE A5 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 500
402 2IZtA=01d 2,000 0 2,000
[ 1,000
Al 500
=] 500
02 PIIH2 AN 2 X (OIH T 2,000 0 2,000
OUEEBISEET I
2,000,000 2,000
[ 1,000
Al 500
- 500
=380l &#5(=4l) 380,000 345,000 35,000
[ 190,000
Al 130,000
- 60,000
401 Al HIZ 2018 100,000 0 100,000
= 50,000
Al 35,000
- 15,000
01 Al&HI 100,000 0 100,000
O2BYOOIIUABSE2| 22
100,000,000 100,000
= 50,000
Al 35,000
- 15,000
402 QI”F X201 & 170,000 245,000 AT75,000
= 85,000
Al 57,500
- 27,500
03 2IZHAETAIHHI 170,000 245,000 AT75,000
O=380aodel2ed
150,000,000 150,000
= 75,000
Al 52,500
- 22,500
O=SE0el0IEII X HEI X
20,000,000 20,000
= 10,000
Al 5,000
- 5,000
405 AHaHE = 10,000 0 10,000
= 5,000
Al 2,500
- 2,500




SN JSE S
M OlsE2sXE
chel: BSAIE A5 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 10,000 0 10,000
O=SE0e0IHARESS T I| AHHYI X2
10,000,000 10,000
= 5,000
Al 2,500
- 2,500
406 J|EHAH=0I A 100,000 100,000 0
= 50,000
Al 35,000
- 15,000
01 JIEFRH=01H 100,000 100,000 0
O=ZEHUBEZMGEE
100,000,000 100,000
= 50,000
Al 35,000
- 15,000
SIAI Lt 16,772 15,176 1,59%
201 Ler23| 11,432 10,336 1,096
01 At2teltl 6,432 6,336 %
O=2g+¢ 3,840
—NLESIZUAA TN +H
100,000 x 122 *4 3| *80% 3,840
OsAlH| 2,592
—EFAESEZS4H]
9,000 x6H 60 +80%<E 2> 2,592
03 A= I 5,000 4,000 1,000
ougx=2=s2s0tsUal
5,000,000 5,000
202 04| 3,840 3,840
01 =LHOLI 3,840 3,840
OE=g2F=T0H|
20,0003 »6 & x40 «80%<E &> 3,840
307 elztol & 1,500 1,000 500
04 CIZHHAMAIH 2 & 1,500 1,000 500
OUEFSSE 00 EAS A
1,500,000& 1,500
B30I S2SHI(HEAIH2-1) 678,334 573,334 105,000
Al 596,934
- 81,400
307 212+01™ 678,334 573,334 105,000
Al 536,934
- 81,400
10 AlRISTIAIEEE 22X 678,334 573,334 105,000
OS3E0al0I&X2 678,334,000 678,334




SN JSE S
M OlsE2sXE
=l EIAEEds EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 536,934
T 81,400
2BEAE0IE nSEFMELI(AlH]) 14,000 10,000 4,000
Al 14,000
307 212+01& 14,000 10,000 4,000
Al 14,000
1 AMISXAIEEXS 14,000 10,000 4,000
OF= == OIS FSIMES = =B Fal [DNR
2,000,000 7K 2= 14,000
Al 14,000
AZHIEE2(2H]) 706,256 580,000 126,256
= 363,128
Al 176,564
- 176,564
301 EtE N = 706,256 580,000 126,256
= 363,128
Al 176,564
- 176,564
01 AR 2EHSHS(RNEERTHE) 706,25 580,000 126,256
OAZNE=SZ 706,256,000 706,256
= 363,128
Al 176,564
- 176,564
=300 &5 MEIE(AlH]) 11,000 17,000 26,000
Al 11,000
402 2I2F X201 & 11,000 17,000 26,000
Al 11,000
02 QI A2 AL E R (0IHTHEA) 11,000 17,000 26,000
O=Z0RI0IE S EQIHEISS
11,000,000 11,000
Al 11,000
EOHHIR=0{E 012 Z2 29I (AlH]) 42,200 42,000 200
Al 42,200
307 212+01& 42,200 42,000 200
Al 42,200
1 AMEISXAIEEXS 42,200 42,000 200
OBINIR=0el018 22 ]88 =g| 42,200
—500let 400,000 *597H A 23,600
Al 23,600
—50 014 600,000& *317H A 18,600
Al 18,600
FAHE Ols E= 20,689,955 20,517,098 172,857
= 6,910,902




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,430,362
Jl 65,683
Al 7,600,163
- 3,682,845
HAS OlsES 20,689,955 20,517,098 172,857
= 6,910,902
= 2,430,362
) 65,683
Al 7,600,163
- 3,682,845
02Ol &AL 20,900 20,800 100
Al 10,000
- 10,900
201 eer23| 20,000 20,000 0
Al 10,000
- 10,000
03 A= 20,000 20,000 0
ON0IL&AL 20,000,000& *13] 20,000
Al 10,000
- 10,000
301 EtE NS 900 800 100
11 dALEEIXIE S 900 800 100
OO0gl 0l At=EI S A
9,000 %100 900
Ols& Al &4 18,120 16,320 1,800
201 er2 3| 16,920 15,120 1,800
01 AtR2t2|HI 11,920 10,120 1,800
Odgt==d| 2,400
—OISZSEAEESSHIE
3,000,000 «80%<& &> 2,400
Oo=2g+¢ 9,620
— 8ol 0ISAcI NFTAE
250,000 43 1,000
—Xopte0tsdcl usZ A+
60,0002 *602] 3,600
— OIS AT TN+
100,000 122 #23| x80%< = 2> 1,920
—HEF0e0?A =Y
3,000,000 3,000
02 s3=gHl 5,000 5,000 0
OZZ2=ZAAl 5,000
— OIS AT NS FE 2|5 H 3| H
5,000,000& 5,000
301 EtE N = 1,200 1,200 0




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 1,200 1,200 0
Oltsdclss2assd
100,000 6 »23] 1,200
OrsgRFd 21,692 20,288 1,404
201 fet=2 3| 10,692 9,888 804
01 AtR2t2|HI 10,692 9,888 804
Oget+=ZHI 1,600
— OISR =EH|
2,000,000 «80%<& &> 1,600
O=g+y 4,160
— ORI O S MIEI P B R A gt
100,000 6 » 12| x80%<E 2> 480
— OSSN/ (AZFRARS)
SRR
100,000 «6 & 43| x80%<E &> 1,920
—OtsSR AP al(Ea) A
100,000 x 1228 * 12/ xB0%<E 2> 960
— I POISSARI R B B S
100,000 x5 *23| x80%<E &> 800
o284l 4,932
—OlSE ARSI S4H|
9,000 x5 +60 2 xB0U<E &> 2,160
—OlSEagRFASISAYI
9,000 x5 »77 & x80%<E 2> 2,772
202 04| 8,000 8,000
01 2L A LI 8,000 8,000
OO0ts&lstE 2F804h|
20,0002 x5S *402 xB80U<E 2> 3,200
OOt 23220
20,0002 x5 60 +80%<E 2> 4,800
204 AR A 3,000 2,400 600
02 E3g 23| 3,000 2,400 600
OotssititisgsHI(LEAS)
50,0002 x5 * 122 3,000
NEEHHEANEE RS (AH]) 115,000 160,000 /45,000
Al 57,500
- 57,500
301 LELEE S 115,000 160,000 /45,000
Al 57,500
T 57,500
02 A2 EH 2GS (FHAAHS, NLWE) 115,000 160,000 245,000
ONE=EHIEENEEHS
115,000,000& 115,000
Al 57,500
- 57,500
NEEHHEIANE =R (=H]) 190,000 210,000 220,000




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 133,000
Al 57,000
301 EtE NS 190,000 210,000 /20,000
= 133,000
Al 57,000
01 Al EE AT Z(2DEXR) 190,000 210,000 /20,000
ORYEYZERB LY
190,000,000 190,000
= 133,000
Al 57,000
OlSEXIAIZ2H(AHI) 1,286,119 1,573,207 A\287,088
Al 1,286,119
307 @20l & 1,286,119 1,673,207 A\287,088
Al 1,286,119
10 Al SXAEEHE 22X 1,286,119 1,673,207 287,088
OOtS=XIAIE S ALATRI 24|
1,201,003,000& 1,201,003
Al 1,201,003
OOts=XAIE223H] 83,916
—Jl==2gtl 673,000&* 122 8,076
Al 8,076
—A&=22H| 158,000& x40 « 12& 75,840
Al 75,840
OO0IS=RIAIE HLHE| 1,200,000& 1,200
Al 1,200
OtS=XIAIZXIZ (AHI) 136,360 133,640 2,720
Al 69,560
- 66,800
301 22N = 32,280 29,400 2,880
Al 16,980
T 15,300
02 MBI 2HHSFHS(HAANS, XLHE) 30,600 21,720 2,880
OEslaotsa g2l
30,600,000& 30,600
Al 15,300
- 16,300
14 JIEt2a3 1,680 1,680 0
OOts=ERAIZAES 2SR
70,0002 %23 x 12 1,680
Al 1,680
307 @120l & 104,080 104,240 A160
Al 52,580
- 51,500
0122 & 3=l 22,600 22,600 0




2A: JIE& S
mH: HoE Ol ©5
o9l HAS 01SES (el mg)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OO0IsSSEXNAEEHEAHIYLE S22 E| 1,080
—=H 24| 12,0003 *40Y 480
Al 480
—SSZE| 15,000& *40¥ 600
Al 600
OO0I=SE XA E2tAH|
1,200 *40H *x365L 17,520
Al 8,760
2 8,760
OOIS=TAILOIS A E B 2 X2
100, 000& x40 4,000
Al 2,000
- 2,000
10 ABIZ A S H 2 X 77,280 80,040 £2,760
OOISEXALBARSE 4L
180,000 x28H 122 60,480
Al 30,240
- 30,240
QOIS S XA L BAXHE A A
50,000& x28Y » 12& 16,800
Al 8,400
- 8,400
11 AISIEXIAIEEX 4,200 1,600 2,600
OOIE=TAILEAISE A2 T
200,000 13- 2,600
Al 1,300
= 1,300
QOIS = XIAI L SATIA (51 H421HI)
15,0002 *40H 600
Al 300
= 300
OIS = XA E 2SR/ (TH 2L
1,000,000 *1JH A 1,000
Al 500
- 500
SHHIIGHOI=S & B2 (=24]) 517,400 495,788 21,612
= 206,958
Al 310,442
307 S1Zto| ™ 517,400 495,788 21,612
= 206,958
Al 310,442
10 AISIEXIAIZBEE2IHIEX 517,400 495,783 21,612
Ostiiloiot=s e e 2 (21 AH])
425,868,000 425,868
= 170,346




2A: OISR
B oS Ols 25
o9l HAS 01SES (el mg)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 255,522
OEUIliotSEHE 2 (2], AtgHl)
91,532,000& 91,532
= 36,612
Al 54,920
St Tl OtS & E 29 (XHA) 73,800 75,792 A1,992
Al 36,900
- 36,900
307 QI2tol ™ 73,800 75,792 21,992
Al 36,900
- 36,900
10 Al S XA EEHE2IHIE X 73,000 75,792 N2, TR
OstIIHOlSEHEHSAIANSE Y
180,0002 x 12123 25,920
Al 12,960
- 12,960
OstHIIHOlS & EH BSAIAE RS AH|
50,0002 =128+ 12& 7,200
Al 3,600
- 3,600
OsiIloiotsEEEANSE EF O
900,000& x 12 +23| 21,600
Al 10,800
- 10,800
OstiuliotsEHEHSAIRIIE =S
3,000,000& 3,000
Al 1,500
- 1,500
OstHIIHOtSE EHSALAAIRI2I 2R+E
15,280,000 15,280
Al 7,640
- 7,640
11 AR SXAMEEZR 800 0 800
OSUHIHOlsSEHEBAAS S H L Z &L
200,000 x4H 800
Al 400
- 400
SIHIIcHOtSEE 2F (XIA) 102,624 89,720 12,904
Al 51,312
- 51,312
307 QIZ2t01 A 102,624 89,720 12,904
Al 51,312
- 51,312
10 Al SXAIEHE2ZHIEX 102,624 89,720 12,904




SN JFSE S
3 HAAS Ots 2
=Rl HAS OlsSES (SH &)
SA - B BRA(SH) - HRA - of v e HIDE2
OsttiuloiotSHEI 2SR (1 4HIFIt)
102,624,000 102,624
Al 51,312
- 51,312
Ol=SSHEEIEERE(EX) 145,428 139,944 5,484
= 88,172
Al 43,628
- 43,628
307 el2to| & 145,428 139,944 5,484
= 58,172
Al 43,628
T 43,628
10 Al SXAIEEHE2EHI2x 145,428 139,944 5,484
OEsiyotsOEE82d(Ex)(21214H])
139,788,000 139,788
= 55,916
Al 41,936
T 41,936
O=Esiyots18s2d(Ex)(23HI)
5,640,000& 5,640
= 2,256
Al 1,692
- 1,692
Ots3SsdEIEEISE2 (XHH) 58,932 50,647 8,285
Al 31,066
- 27,866
307 @I2to1 & 58,932 50,647 8,285
Al 31,066
- 27,866
0122 & 3= 2,000 2,000 0
O2staotsIEE2 (X)) (OtSXI&)
2,000,000& 2,000
Al 2,000
10 Al2ISTIAEEE2HIEX 56,332 48,647 7,685
O2siaotsIEE2d (M) (SE+E)
180,000 x4« 123 8,640
Al 4,320
T 4,320
O=2sUyotsOEE823 (M)
(BH=40HI) 50,0002 +4H « 12 2,400
Al 1,200
- 1,200
O2siaotsIEE2E (XHA)
(HEFOH) 900,000 x4 H+23] 7,200
Al 3,600




2A: OISR
mH: HoE Ol ©5
Rl MAS OtsE= (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 3,600
OESHASIEEES2Y (AHA)
(OE=Es) 2,880,000& 2,880
Al 1,440
- 1,440
OESHAOISIAESE2Y (M) (HLtetd])
1,200,000 & *1JH 2 1,200
Al 1,200
OESHAOISIAEE2Y (XHH) (2124d]
2E=2) 34,012,000 34,012
Al 17,006
- 17,006
11 Al =SXAMEES 600 0 600
2SS IS ESAMASE AL LR
200,000 3% 600
Al 300
- 300
ZARHOISSAXIA (AlE]) 2,987,332 2,816,244 171,088
Al 2,268,790
- 718,542
301 LPENZ 2,987,332 2,816,244 171,088
Al 2,268,790
- 718,542
02 AISIBEEHS(FHLHS, NYME) 2,987,332 2,816,244 171,088
OZALAHIS3A 2,987,332
—-IIB(E - s52)34
9,500 *7108 84 566,580
Al 566,580
— S ESSA 9,500 x628F 76 453,416
Al 226,708
- 226,708
—HSIA L =44
9,500 x688H x301! 1,967,336
Al 1,475,502
- 491,834
IIEAAEOtSYSEEZ(AlH]) 184,440 207,480 A23,040
Al R,220
- R,220
301 LetENZ 184,440 207,480 223,040
Al ®,220
- R,220
02 MBI EZAG2(HUAS, XLTHEA) 184,440 207,480 23,040
OJIERIgLdEEXZ 184,440,000& 184,440
Al 2,220




2A: OISR
mH: HoE Ol ©5
&°Hel: MAS OlsEsS (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| = 2,220
aotses+2 X2 (=0]) 76,800 79,200 2,400
| 53,760
Al 11,520
- 11,520
301 LB F 76,800 79,200 A2,400
| 53,760
Al 11,520
- 11,520
01 A BE X2 (2 REETA) 76,800 79,200 A2,400
OEIEETEER
200,000 x32H * 123 76,800
J| 53,760
Al 11,520
- 11,520
AtH =2 XA (=) 3,430 2,700 730
J| 2,401
Al 515
- 514
301 LPENZ 3,430 2,700 730
| 2,401
Al 515
- 514
01 Al B&X2HZ2(2REETR) 3,430 2,700 730
LAHIEXE 3,430,000& 3,430
| 2,401
Al 515
- 514
FoforsLLL=Exr2(=20]) 10,202 9,074 1,128
| 7,142
Al 1,530
- 1,530
301 LB F 10,202 9,074 1,128
| 7,142
Al 1,530
- 1,530
01 AISIBE X 2GS (2 RETME) 10,202 9,074 1,128
OXMOtsLYLAEELF
10,202,000& 10,202
| 7,142
Al 1,530
- 1,530
QU= )22 X XIJ (=4]) 1,400 2,100 AT700




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 980
Al 210
- 210
301 EetE2 NS 1,400 2,100 AT700
Jl 980
Al 210
- 210
01 Al EE AT S (2 RDEXA) 1,400 2,100 AT700
O =222 XX
700,000 x2H 1,400
Il 980
Al 210
- 210
LY AE0ts delxlzg XIJ(=HI) 1,140 4,400 A3,260
= 798
Al 171
- 171
307 el2to| & 1,140 4,400 A3,260
= 798
Al 171
T 171
11 AMEISXAEEES 1,140 4,400 A3,260
Ogg - JIE/E0tsa el Xz ARG A1
1,140,000& 1,140
= 798
Al 7
T 171
OtsEZ&7HIXIE(=4I) 285 1,500 A1,215
= 200
Al 85
301 EtE2 NS 285 1,500 A1,215
= 200
Al 85
01 Al EE AL S(FREXMH) 285 1,500 1,215
O0tssS8HIXE 285,000& 14 285
= 200
Al 85
H2O0ISESHIXIA (=) 48,000 48,000 0
= 33,600
Al 14,400
301 EtE N = 48,000 48,000 0
= 33,600
Al 14,400




e ) ==
E

28 Heoi2 Ols ws
&°Hel: MAS OlsEsS (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 48,000 48,000 0
OdE0ISESHINA
1,000,000 x4 * 122 48,000
= 33,600
Al 14,400
OtS LRI E(=2HI) 1,188,900 1,041,660 147,240
= 832,230
Al 178,335
- 178,335
301 EtE2 NS 1,188,900 1,041,660 147,240
= 832,230
Al 178,335
- 178,335
01 Al EEABZ2(2DEEMR) 1,188,900 1,041,660 147,240
OOtSZE X2 A% 1,188,900,000& 1,188,900
= 832,230
Al 178,335
- 178,335
Ots==& 20i(=8l) 7,018,930 7,671,330 652,400
= 5,615,144
Al 982,650
- 421,136
301 EtE NS 7,018,930 7,671,330 652,400
= 5,615,144
Al 982,650
- 421,136
01 Al 2E AL S(SRNEXM) 7,018,930 7,671,330 652,400
O0ts+=g=0 7,018,930,000& 7,018,930
= 5,615,144
Al 982,650
- 421,136
de=ot=(=Hl) 2,000 0 2,000
Jl 1,400
Al 300
- 300
301 EetE NS 2,000 0 2,000
Il 1,400
Al 300
- 300
01 Al EE A S (2 REXMR) 2,000 0 2,000
Og=ot=s 2,000,000& %1 2,000
) 1,400
Al 300




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 300
gtiaots 23l XA (=4l) 8,000 8,000 0
= 5,600
Al 1,200
- 1,200
301 EtE NS 8,000 8,000 0
= 5,600
Al 1,200
- 1,200
01 Al EE A ZS(2REXMR) 8,000 8,000 0
OYLHA OISR B
1,000,000« 1 +81 & 8,000
= 5,600
Al 1,200
- 1,200
CHE S SHIE I ABI X (=HI) 393,492 414,304 120,812
[ 196,746
Al 112,346
T 84,400
307 elztol & 393,492 414,304 N20,812
= 196,746
Al 112,346
- 84,400
05 2IZtRAE = 393,492 414,304 N20,812
OotgnNEsdE 28I X2
393,492,000 393,492
= 196,746
Al 112,346
- 84,400
CEHSSHE2S X2 (RAH) SALK Q148 F0H2 88,210 0 88,210
Al 44,105
- 44,106
307 elztol & 88,210 0 88,210
Al 44,105
- 44,106
05 212t =S 88,210 0 88,210
OtaNESsSHEH 2SS X (RA) S ALK
QIAHI=IOLE 88,210,000 88,210
Al 44,106
- 44,105
CENESSdE22HIXI&(=H]) 60,000 64,000 24,000
= 30,000
Al 16,800
- 13,200




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 60,000 64,000 24,000
= 30,000
Al 16,800
- 13,200
05 2ItRIE = 60,000 64,000 24,000
OtigNssdEH23HINE
60,000,000 60,000
= 30,000
Al 16,800
- 13,200
CtENEsdE2SHIX# 34,400 34,400 0
307 lztol & 34,400 34,400
05 2ItRIE = 34,400 34,400
OttigNEssdH2EH=IHI&
34,400,000& 34,400
CHEEINESdE S48 X 126,000 126,000 0
Al 63,000
- 63,000
307 21201 & 126,000 126,000 0
Al 63,000
- 63,000
05 2ItRIE = 126,000 126,000 0
OtgNEsdESAEIXIH
126,000,000 126,000
Al 63,000
- 63,000
CHEt S SdEEXIBI XA (=HI) 140,000 106,000 34,000
[ 90,000
Al 25,000
- 25,000
402 2I2F X201 & 140,000 106,000 34,000
= 90,000
Al 25,000
- 25,000
03 2IZHRAEAIHHI 140,000 106,000 34,000
otgnssdeel2& |
100,000,000 »19H 2 100,000
= 50,000
Al 25,000
- 25,000
O83=y) ===Full= PIPNN sl
40,000,000 * 190 2 40,000
= 40,000
CIEHSSHEBSANEE =S (AIH]) 41,600 39,000 2,600




A JtERS
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 20,800
- 20,800
307 212+01 A 41,600 39,000 2,600
Al 20,800
- 20,800
05 QIZtRIEIS 41,600 39,000 2,600
OUSN=SHEHSAINEESE 41,600
—CHENESSHESAINSE S
13,200,000& 13,200
Al 6,600
- 6,600
—CEHESsSdEHSANE UZ A
6,600,000& 6,600
Al 3,300
- 3,300
—CHEINSSHEHSAIZEE F O]
19,800,000& 19,800
Al 9,900
- 9,900
—CEHEssdeHA2Z &I
2,000,000& 2,000
Al 1,000
- 1,000
CHet NS SMIEISAIRIDISS=SH(AlH]) 7,920 9,984 A2,064
Al 3,960
- 3,960
307 QIZ2t01A 7,920 9,984 A2,064
Al 3,960
- 3,960
05 2IZtRES 7,920 9,984 A2,064
OUstH=SHEHBAIRDIE S
7,920,000& 7,920
Al 3,960
- 3,960
CHEtHESdEEsSoI =X 69,393 68,600 793
Al 29,727
- 39,666
307 gI2tol ™ 69,393 68,600 793
Al 29,727
- 39,666
05 QIZtRES 69,393 68,600 793
OotiegtEssdeHEsE XA
59,453,000& 59,453
Al 2,727




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 29,726
Oy EERIEEEEESTE
9,940,000 9,940
NSotsdlE 23H XI&(=H]) 432,888 2,811,540 12,378,652
s 216,444
Al 108,222
- 108,222
307 212+01& 432,888 2,811,540 A\2,378,652
= 216,444
Al 108,222
- 108,222
10 AlRISXAZEE 22X 432,888 2,811,540 A2,378,652
OXIHOLSHE )| 22|
426,288,000 426,288
= 213,144
Al 106,572
- 106,572
OUdIEHEI=It2 & | 6,600,000& 6,600
[ 3,300
Al 1,650
- 1,650
XSotsHlE eldH] XI&(=H]) 2,919,000 0 2,919,000
[ 1,459,500
Al 729,750
- 729,750
307 gl2to| & 2,919,000 0 2,919,000
[ 1,459,500
Al 729,750
- 729,750
10 Al SXAAEEHE2EHI2x 2,919,000 0 2,919,000
OXFotSHEe 1 Ad K&
2,919,000,000& 2,919,000
[ 1,459,500
Al 729,750
- 729,750
Sdg XA0otsHE FIHXIE (=) 37,200 50,400 A13,200
[ 18,600
Al 9,300
T 9,300
307 elzto| & 37,200 50,400 /13,200
= 18,600
Al 9,300
- 9,300
11 AMEISXAEEES 37,200 50,400 213,200




2A: OISR
B oS Ols 25
o9l HAS 01SES (el mg)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OEEZ2 S XG0t SHEHFIHAIA
33,600,000 33,600
s 16,800
Al 8,400
- 8,400
OEQIXNAOtSHEFIIXIA
3,600,000& 3,600
s 1,800
Al 900
- 900
XSOotsHE 281 XA (AlY]) 847,240 568,685 278,555
Al 439,220
- 408,020
307 gI2Hol M 847,240 568,685 278,555
Al 439,220
- 408,020
10 Al = XA EHE2FHIE X 847,240 568,685 278,555
OXSotSHEHCIAB(SEN)REEZE
FIHRIE 473,800,000 473,800
Al 236,900
- 236,900
OXS0tSHEHSAIANEE S
92,400,000 92,400
Al 46,200
- 46,200
OXIH 0t S HIE H L X &
31,200,000 31,200
Al 31,200
OXL0tsHEHSAIAHE A ZAlH|
46,200,000& 46,200
Al 23,100
- 23,100
OXSO0tSHEHSAIAE Z FIH]
138,600,000 138,600
Al 69,300
- 69,300
OXI0otsHEHEAMIIESSE
55,440,000& 55,440
Al 27,720
- 27,720
OXOtSHEBSAIASEH A Z T
9,600,000& 9,600
Al 4,800
- 4,800
KE0sHE T2 24H] X (AlH]) 41,180 41,240 AB0




FA OIS et
B oS Ols 25
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 28,826
T 12,354
307 lztol & 41,180 41,240 260
Al 28,826
- 12,354
10 Al SXAAEEHE2EHI2x 41,180 41,240 260
OXEotSHe 22 J]e8H| X
41,180,000 41,180
Al 28,826
- 12,354
XSAOtSHIE SASAEAF XI& (AlH]) 390,228 384,722 5,506
Al 273,160
- 117,068
307 elztol & 390,228 384,722 5,506
Al 273,160
- 117,068
1 AMEISXAEEES 390,228 384,722 5,506
ORI OLSHIE SAZAKHAI
390,228,000 390,228
Al 273,160
- 117,068
AgotsdE =S5 K& 105,508 232,000 A126,492
Al 45,299
- 60,209
307 glztol & 105,508 232,000 A126,492
Al 45,299
- 60,209
11 MEISXAEE 105,508 232,000 N126,492
OXNSotsHESS AR
90,598,000& 90,598
Al 45,299
- 45,299
OXY0tsHIH IHFIXE
14,910,000 14,910
NSotsSHE AgeEHs| X 4,400 4,400
201 er23 | 4,400 4,400
03 Ar=EHI 4,400 4,400
OXNSOtSHEAS e & H 2| A&
4,400,000& 4,400
NS OIS HESAAA LY S A XA 10,200 8,500 1,700
307 212+01™ 10,200 8,500 1,700
11 MEISXAEE 10,200 8,500 1,700
OXNY OIS HEHBAARAZSEHI XA
100,000& %102 10,200




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlSESHERA AILHIXIR(3H]) 52,100 41,160 10,940
= 41,680
Al 5.210
- 5,210
101 e124d| 32,100 26,160 5,940
= 25,680
Al 3.210
- 3,210
04 JIZtN2Z2 XS 2 32,100 26,160 5,940
OO SESHEREZZACFS
CUHEE2SEE) 32,100,000 32,100
= 25,680
Al 3,210
- 3,210
201 2= 7,140 3,900 3,240
= 5,712
Al 714
2 714
01 AtR2tc|HI 5,700 2,400 3,300
OIEER=1] 5,700
— OISR SEESPALNYZEARS
=g 5,700,000 5,700
s 4,560
Al 570
- 570
2 S5=2g4l 1,440 1,500 260
OZ2Z223LHAl 1,440
—OISES8RSHR:S
120,000& * 12 1,440
= 1,182
Al 144
T 144
202 04l 2,800 3,600 AT40
= 2,288
Al 286
- 286
01 SLHoIH 2,860 3,600 AT40
OOt 23220 2,860,000& 2,860
= 2,288
Al 286
- 286
301 EtE NS 10,000 7,500 2,500
= 8,000
Al 1,000




FA OIS et
B oS Ols 25
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,000
01 Al EE A S (2 RDEEMA) 10,000 7,500 2,500
OISR 5HL QA AN
10,000,000& 10,000
[ 8,000
Al 1,000
- 1,000
2SS4 A0 2825 36,000 0 36,000
= 25,200
Al 10,800
301 2= 36,000 0 36,000
= 25,200
Al 10,800
01 A2 HSHS(RNEERTHE) 36,000 0 36,000
OESEMRIYoRIS2E S|
36,000,000& 36,000
= 25,200
Al 10,800
OtSSXIWAL IHA K& (=HI) 437,392 426,308 11,084
[ 218,696
Al 109,348
- 109,348
101 @124H| 437,392 426,308 11,084
[ 218,696
Al 109,348
T 109,348
M ORINZZE2NSES 437,392 426,308 11,084
OO0tS= X W AHL A K&
437,392,000& 437,392
= 218,696
Al 109,348
T 109,348
CEAEE SEAtlizel XI&(=24l) 198,370 195,570 2,800
= 158,696
Al 19,837
T 19,837
101 @124H| 41,110 39,570 1,540
= 32,888
Al 4,111
- 4,111
M ORNZZ2NSE S 41,110 39,570 1,540
OAHIIZI2IAPD PRI 2 2 X1 2
41,110,000 41,110
s 32,888




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,111
T 4,111
201 Ler=23 | 13,690 13,290 400
= 10,952
Al 1,369
- 1,369
01 At2t2ltl 11,190 10,790 400
Odit=3=H| 5,400
—CYAREYER2 S|
3,000,000 3,000
[ 2,400
Al 300
- 300
—CEHAEREI AL EESME
2,400,000 2,400
[ 1,920
Al 240
- 240
O=g=¢g 2,550
—CEHAHERIRAAESSE
150,0003 8 *13] 1,200
= 960
Al 120
- 120
—~HHI &R E =g
150,000 38 »33] 1,350
= 1,080
Al 135
- 135
O=aitl 2,240
—CEHAREYRFASAI
2,240,000& 2,240
= 1,792
Al 224
- 224
O%gu=HI 1,000
—CEAHESHOHAE WS
250,000 43 1,000
[ 800
Al 100
- 100
02 S3=gHl 2,500 2,500 0
OZZ2=ZHAl 1,800
—CEAHEYERERUINRS
50,000 x3CH* 122 1,800




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,440
Al 180
= 180
ON&ZHIS X 700
—CRAEIEASSAIAHS T 24|
700,000 700
ras 560
Al 70
- 70
202 04l 1,000 1,000 0
= 800
Al 100
- 100
01 =LHO LI 1,000 1,000 0
OCRIAEIEADEFO01Y|
20,0008 x2& »252 1,000
= 800
Al 100
- 100
301 EtE NS 138,570 137,710 860
= 110,856
Al 13,857
- 13,857
01 Al 2E A S(SREXME) 138,570 137,310 1,260
OSYAEIEX S XA A
138,570,000 138,570
s 110,856
Al 13,857
- 13,857
307 glztol & 4,000 4,000 0
s 3,200
Al 400
- 400
012z € =4 4,000 4,000 0
OUMAZEZ XA
4,000,000 4,000
= 3,200
Al 400
= 400
HY2HIHI(OIS2St ) 471,448 412,984 58,464
= 148,711
Al 24,278
- 298,459
el 2| 448,680 390,6% 57,984




SN JMEE S
M HAPAZHI(OIEES)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 148,711
Al 24,278
- 275,691
el E2d| 110,708 101,971 8,737
101 21AH| 110,708 101,971 8,737
01 2= 110,708 101,971 8,737
OAlRIeI2R4g
11,6022 x22H *x35A| 2+ 122 » 1. 03+B0%<E &>
88,335
OAZAZ24S(0ISESAR)
11,6022 x4 +25A| 2H+ 123 +1.03+80%<E 2>
11,473
OAIRIQI 2R (LBIATIFI/2Z)
11,6022 x2 +30A| 2H+ 123 +1.03+80%<E &>
8,031
OARIAZ R4 (LEAIIM/ISES S R)
11,6022 x1Z+25A| 20+ 122+ 1. 03+B0%<E 2>
2,869
QIARAHI(EHAEIE) (ZHI) 134,350 133,005 1,345
= 49,365
Al 6.171
- 78,814
101 ©1AH| 120,762 119,553 1,209
[ 49,365
Al 6,171
- 65,226
03 SRH(RIH )22 U2+ 120,762 119,553 1,209
OO0lSSEAtd 2 eINSRIIHSZ 2R
oIEy 61,706,000 61,706
[ 49,365
Al 6,171
- 6,170
O7tI2d=s 59,056,000 59,056
WM HsEE=S 13,588 13,452 136
M SRA(RIHL) 22N EE2RE=s S 13,588 13,452 136
ORI 2R3
120,762,000 *4 . 5% 5,435
O=0ALEE=SRES
120,762,000 *3.545% 4,282
OFIIRUYEE= 4,282,000 *12.81% 549
OLNESE8=REs
120,762, 000211, 75% 2,114
Ot 2R
120,762,000& * 1% 1,208
QI 2| (OtS=XIAL (=H]) 5,915 54,082 2,833
[ 15,170




SN SRS
M HY2IZHI(OIE&SH
el i Eg| (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Al 7,585
- 34,160
101 eI t| 51,157 48,611 2,546
= 15,170
Al 7,585
- 28,402
03 SR (RIAHL) 22X ES 51,157 48,611 2,546
OSSI20tRAIRI | HAZ 2RI
30,340,000 30,340
= 15,170
Al 7,585
- 7,585
OFHIEHEZ 20,817,000& 20,817
N HASREES 5,758 5,471 287
04 ZR(DIAHY)2EX BERREZ S 5,758 5,471 287
O=0dz3)| 223
51,157,000 *4. 5% 2,303
O=0HLEEZRES
51,157,000 x3.545% 1,814
OFIRAEEZ 1,814,000 %12.81% 233
OLnEEdzReE3a
51,157,000& *1.75% 8%6
Ot EEERE =
51,157,0002 x 1% 512
OIA2YY|(OISESHL A ) (=Y]) 146,707 101,638 45,069
s 84,176
Al 10,522
- 52,009
101 @I24H| 146,707 100,858 45,849
s 84,176
Al 10,522
- 52,009
02 JIEtA B 146,707 A,418 52,289
OtsESHERAZZ A2
(AP E DI HI) 105,220,000& 105,220
s 84,176
Al 10,522
- 10,522
O7HIEdS3 13,829,000 +3% 41,487
234 22,768 22,288 480
J123&H| 22,768 22,288 480
201 B2 AL| 14,897 14,417 480
01 ArR222ltl 14,897 14,417 480
ORA2I+EH| 8,250




SN IS
HE: YHSARYI(OISEED
£l D=yl
2 s IE]
SA - B S9(SH) - NIRAY - BES 0l &t e
N Re=T]
11,000, 0002 +75%< & 2> 8,250
Oa4il 4,320
— S HEYYRETZA)
9,000 +25 & x24 2 x80%<E &> 4,320
ogxz 2,327
— A=A R E
105,000& «1CH+ 123 1,260
—zyaolYnzE 56,0002 1 CH» 122 672
-BIFIIIYRE
32,9003~ 1L =122 3%
202 04| 3,071 3,071
METEE 3,071 3,071
OO &IIEL D=0
97,4003 x4 +32U +23| +80U<E 2> 1,871
ORH2ELREO0H|
20,0003 x25 2«32 +80%<E &> 1,200
203 SR =L 4,800 4,800
M FA2HLRFAI 4,800 4,800
ORH2YYRET|

400,000& * 122 4,800




